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1. e e :
(a) Uva (i) 3OS TRy ARG TR o I AT
(b) RN TA SArET (1) = SRamm R S st fage .
(c) TS FASH (i) e e WS T wEEe aefaraE
gifirae.
(d) T TS R (iv) ot Torrey suftn wn widd 3w fedia.
waidt I :
(al (b) (e} (d) (a) {b) ({(c) (d)
(1) (B i) (i) (iv) (2) (i) (i) (1) (v)
(3) (v} (i) (1) (idd) (4) (i) (1) (i) (i)
Match the following :
(a) The Peshwas (i) Built Library of English books and
Laboratory for scientific experiments.
(b} Maharaja Sawai Jaysingh (ii) Had European doctors and scholars in the
court.
(c) Raghunath Navalkar (iii) Asked the Portuguese king to send
Portuguese astronomers.
(d} Raja Sarfoji of Tanjore (iv) Learnt English and wrote well in the
language.
Answer Options :
la} {b) (e) (d) @} (b} (c) (d)
(b 1) @) (i) Gv) 2) () (i) @) G
(3) @v) () (9 (i) (4 GiR) (1) () (i)
2. WSS FIK YIAH HE TRV B ?
(a) fEsm@m (b) WV
(c) HIEHEYRl (d) ST ASHIR
it I
(1) {a), (b) 300 (c) waa (2) (b) 3nfW () =R
(3) (b}, (c) 3N () P (4) (a), (b), (c) 30fT (q)
Who from the following Sultans were from the Sayyad dynasty ?
(a) Khijrakhan (b) Mubarakshah
{cj Muhamadshah {d) Allauddin Alamshah
Answer Options :
(1) (a}, (b) and {c) only {2) (b} and (c) only
(3) (b, () and (d) only (4) (@), (b), (¢} and (d)

HERT HIHE TP/ SPACE FOR ROUGH WORK
P.T.ol
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3. SIS 9@

(a) WIS (i} HeAEd (RN
(b) AT (ii) HeE widE fasia
fc) UHYT (i) <AftEe fadi
d) e (iv) SR y<g fa@e
et

(a) (b) [e) (d) (a) (b} (e] (d)
(1) (i) (i} (i) (i) (2) (1) (i) ([ (iv)
(3} (v) (iii} (i) (i) (4 (i) (1) (v) (i)
Match the following :
{a} Mayurbhanj {iy Central Administration
(b} Keclhapur (11} Merged into Bombay Province
{c) Rampur (iii)} Merged into Orissa
(d) Bhopal {iv)] Merged into Uttar Pradesh
Answer Options :

(a) (b} c] {d) (a} (b} (¢ (d)
(1) (i} i) i) () (20 6] () (m) (@v)
(3) (v} (i) -1} (i) (4) (i) (1) {iv) (i1

4. HEEH S e
(1) ST& - ShITAI g
2y Toamm T@ - faer
(3) T TS - A
(4) Tegwm uniie fusste ol - S/ wey
Which of the paw from the following is wrong ?
(1) Dastas - Bankroka Tapu
(2) Siaram Dal - Bihar
(3) Parshuram Dal - Orissa
(4) Hindustan Socialist Republican Army - Uttar Pradesh

ol FWEE! ST/ SPACE FOR ROUGH WORK
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5. mewmmmwmwwaﬁ?

(a) HHTRE! (b) EETHEA (c) TaIeH HEM
(d) TR FHER (e) @wHIET S

vafdt Y

(1) (a), (o) 30fW () ¥ (2) (b}, (o), (d) 0T (e) e
(3) l(a), (b), (c) TN (d) T (4) (@), (b), (o), (d) 30F (e}

Who from the following women inspired the womanhood to fight the non-violent
war of independence ?

{a) Kamladevi (b) Hansa Mehta () Ratanben Mehta
(d) Ramibai Kamdar (e) Laxmibai Garde

Answer Options :

(1) fa), (c) and (e} only (2) (b), (c), (d) and (€] only

(3} (a), (b}, (c) and {d) enly (4) (), (b), (c), (d) and (e}

6. T2 fooem ¥EWRE e Y T onfer wrieh S A Fr 3w giean Sre e,

(a) ThfeRWE 5w (i) e FH vE
(b) UH UGS T (i) TEER-Tahrar &
(c) &I Hemhid (iii) WIS Sedre g
(d) Toiswma fig (iv) "
it S :

(a) (b} (e) (d} (a) (b) (e} (d)
(1} @) G) @) (iv) (@) (iv) (1) (i) (iid)
3) (i) Gv) (1) (i) (4) (iiy) {iv) (i) (1)

Match the following leaders of the Hyderabad State Congress with their work and
places of work.

(a) Govindbhai Shroff (i) Head of Action Committee
{b) M. Ramchandra Rao (it) Hyderabad-Secunderabad Area
(c) Dr. Melkote (iii) In-charge of struggle in Marathwada
(d) Digambarraoc Bindu (iv) Andhra
Answer Options :
(8) (®) (e} (d) (a) (b} (c) (d)
(1) ) @) (i) (i) (2) (v) (1) (1) (i)
(3) (i) (iv) (1) (i) (4) (i) (v) (1) ()

oo HIHTHTS ST/ SPACE FOR ROUGH WORK .0
P.T.O.
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7. RIS GHW YISk SN qUH FS o 7
(a) & =R fSeRndls S mad B,
(b) T e <elt vt 9@ E,
(c) TERTERIS e = ‘Sievll’ =1 g T 3o 2.
(d) A ST TS A T SR, Afdie fare sryrerE stoie FE 3,
i I
(1) yae fg=m (2) THEE ST
(3)  WENE S (4) FONE A
Who from the following is described in the following sentences ?
(a) He was from the Kale village in Satara district.
{b) He had studied upto fourth standard.
fc) His Jasa’ had tremendous impact on the people of Maharashtra.
(d) He used to make the Bahujan Samaj’ aware of their pitiable condition and

lack of education in them.
Answer Opt:ons :

(1) Keshavrao Vichare (2) Ramchandra Ghadge

{3) Bhaurao Patil (4) Krishnarao Bhalekar
8. Trﬁ@TT[IEHT:

{a) Uitsfta (1) STUEERN S T SIS TTEh

(b) SIS (i) e wefoe 39 oo s

(c) WIRW-SFIS (iii) wiag do

(d} <% (iv) AT HiEH

Lo pige ot

(a) (b (e) (d) (a) (b} (e} (d)

(1) (v} (i) @) (3) (2) () Gv) () (i)
(3) ) (i (i) (iv) (4 (i) (i) (v} (iiD)
Match the following :

{a} Parikshit (i} is the hero of a famous song of praise found in
Atharvaveda
{b) Janamejaya (i1} is credited with having gone round the earth
{c) Pravahena-Jaivali ({ii) Famous Philosopher
{d) Janaka (v) The patron of Yagnavalkya
Answer Options :
(@) (B (e} (d) {a) (b) (e} (d)

(1) (iv) (i) (i) (i) (2) (1) (v) (1) (i)
(3) (1) (i) (i} {iv) (4) i) (1) (v) (i)

HoeaT RTHTETS! S/ SPACE FOR ROUGH WORK
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9, 23ﬁ,1945ﬁwﬁm3mawaﬁﬁsﬁaanﬁaﬁwqﬁﬁwmaaﬁmﬂﬁwaﬁ
HIoT WifTaS ?
(1) & fes (2) TR qEEE
(3) VPHE Teosdl (4) sl o

Who gave a speech at the conference of aboriginals at Zari in Umbargaon Taluka
on 237 May, 1945 and asked them to end the practice of Forced Labour ?

(1) Kama Randive (2) Godavari Parulekar
(3) Shamrao Parulekar (4) Devii Tandel

10. 1889n@@§ﬁﬁw@ammmmﬁmmaﬁﬂﬁm%@%?
(1) Rt e (2) e HiE e Fe
(3) R Sifas o (4) wedl fage wwst foig
In 1889, who called a meeting of barbers in Bombay and discouraged them from
tonsuring women ?
(1) Justice Ranade (2) Maharshi Dhondo Keshav Karve
{3) Mahatma Jyotiba Phule (4) Maharshi Vitthal Ramji Shinde

11. & =9 T 81 2

(a) e (b) [T (c) A

(@) W= (e) @R (M wf

(g) TTEHMIF (h} wH (i) TE
it 34

(1) Feiadke 4

(2) TR I IR0 R A

(3) TEETH WA

(4) AN W_W

What were the following States ? -

{a) The Malavas (b} Arjunayanas {c} Yaudheyas
(d) Madrakas (e) Abhiras (ff Prarjunas
{g) Sanakanikas (h} Kakas (i} Kharaparikas

Answer Options :

(1) The States of Aryavarta

(2) The tribal States which surrendered to Samudra Gupta
(3) The States of Deccan

(4) The territories of Naga rulers

THOSHT SRSl WM/ SPACE FOR ROUGH WORK
P.T.O.
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12. ST oo
(a) e T (i} Toeel =W T e
b) w7, femen (ii) TS GrE= avy faRem RSt Seue
(c) T oy I (i) Herdem frolt wreawi= arhen Gw dat Tt Tl
(d) fadem fireed (iv) FemverioE e fedied
T I
(a) (b} (c]) (d) (a) (b} (c) (d)
(1) v) (i) (i) @) (2)  (v) (i) (i) @)
(3) (1) (i) (i) (iv) (4) (i) (i) (v) (iif)
Match the following :
(a) Mukunda Das (i) Swadeshi Steam Navigation Company
(b} B.G. Tilak (ii) Swadeshi movement against the use of foreign
sugar
(c) Lala Lajpat Rai (iii) Requested the Bombay Mill owners to supply
dhotis at moderate rates
{d) Chidambaram Pillai (iv)] Composed patriotic songs
Answer Options :
(a) (b} (e} (d) {a) (b) (e} (d)
(1) Gv) i) (i) (i) (2)  (iv) (i) (i) ()
(3) () (i) (i) (iv) (4) ) ([)  (iv) (i)

13. RIS IR AT VISR SER faT 2 ?

(a) R, g (b) e, srpafas
(c] VEHE & (d) =R I

o=y Iy

(1) (@) AT (b) "F (2)  (b) A (o)

(3) () Ao (d) "t (4} (a), (b} 3T (d)

Who from the following persons were the court painters of Shahajahan ?
{a) Mir, Hasham (b) Chitramani, Anupchitra

(c}) Muhammacl Hassan (d) Fakir Ulla

Answer Options :

(1} (a) and (b) only (2) (b} and (c) only

(3) (¢ and (d) only 4) (a), (b) and (d) only

ol HMATEAS TR/ SPACE FOR ROUGH WORK
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14, RIS M HSHHTER Higti FI.

(a) Tfh&ET T

(b) TSl AT HREHAl et

(c) AT A

() famen ofte

Lo Lk T

(1} (&), (), (b), (c] (2) (@), (), (), (d)
(3) (b}, (a), d), (c) (4) {c), (b), (a), (d)
Arrange the following things in chronological order.
(a) The Pakistan Resolution

(b) Rejection of Rajaji’s proposal by the Congress

(c) The Rajaji Formula

(d) Simla Conference

Answer Options :

(1) (a), (d), (b), (¢) (2) (a}, {b), (c), (d)
(3} (b). (a), (d). (c] (4) (), (b}, (a), (d)

15. T.H. 75 O it WS FraidE de s (e e’ 7 Uy fedla
(1) f=it (2) Eelew (3) TR (4) dRew

wrote ‘Natural History’ in 75 A.D. in which there are references to

‘exports from India.

(1) Pliny (2) Herodotus (3) Megasthenes (4) Periplus

FHeel TS S/ SPACE FOR ROUGH WORK

P.T.O.
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16, Srem o
W -1 W - 10
(y1&T) (= ®etaT)
(a) (i) €
(b} for= (ii) ==
(c) & (iii)
{(d) Tee (iv) T8 (Seine}
Taidt 39
{(a) (b} (e} (d) (@) (b) (e} (d)
(1) @v) (i) () (i) (2) @) (1) (i) (i)
3) () (v) (i) (i} (4) (i} fv) (1) (i)
Match the following :
Column - I Column - I
(Cities) (On River Bank)
() Paris {) Rhine
{b) Geneva (i) Rhone
(c) Bon (iii) Dneper
(d) Kiev {iv)] Seine
Answer Options :
(a} (b) (e) (d) (a) (b) (c) (d)
(L) (v} (i) @) (iii) (2) (v) (i) (i) (i)

(3) (i) {v) () (i) (4) (i) (iv) () (i)

17. 9o faur faarm =i .
{a} wE BSH 00 @ = s MeEd T2 @ e,
(b) YRETE WeH AUHY S, {0 9vEd.
(c) TWeaT S FoHY TME Hlodw Yoow TAIT STEN.
Tgidt 36T
(1) % fau™ (a) R 3R
(2) w faum (b) siat anE
(3) faum (b anfn (¢) SR amea
(4) faum (2, (b) 3f0T () TWR s7Ra
Consider the following statements :
(a) The Cuddapha rock system is found in Penganga and Godavari river basins.
(b} Iron ore and Manganese is found in Dharwar rock system.
(c) Coal is found in Gondawana rock system on ample scale.
Answer Options :
(1} Only statement (a) is correct
{2} Only statement (b) is correct
(3} Statements {b) and (¢) are correct
(4) Statements (a), (b) and (¢} are correct

HTH HHNTS AFT/SPACE FOR ROUGH WORK
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18. SiSw o :
() ( wfererR it )
(a) foyg () oueme Teiie P 39 Yemm ST O,
(b) (i) Tooe e AFEUETSEER ST .
(c) Ha (i) wqw Meam® WHye v UIA ST I
(d) wEd (iv) T RIS ehh LHSAAA FW T4,
v) ufeaw mewrie Fefit ved WA T e,
Tt I
{a) (B) (c) (d} (a) (b) (e) {d)
(1 (v (i Gi) W (2) (i) (1) (v} (v)
(3) (i) v ) () (4) (i} (ii) (iv) (v)
Match the following :
{River} (Details)
(a) The Indus {i) Rises from semi-arid highlands of Chhattisgarh.
(b) The Tapi (iij Rises in Tibet, near lake Mansarowar.
(c) The Narmada (iii) Rises in the Satpura ranges, in the Betul district.
{d) The Kaveri (iv) Rises in the Amarkantak hills in Madhya Pradesh.
(v} Rises in the Brahmagiri range of the Western Ghats.
Answer Options :
(a) (b} (e} (d} (a) (b) (e} (d)
(1) f(iv) (1 @) @ (2) () @) (W) @)
(3) Gy @v) (v () (4) (i) @) (v} (@)
19. WES B fcgie SergEn s=al S fET Ui SEvET 2011 T e 3R ?
foe LEG fegm o
(a) 3B 886 986
(b) e 393 934
(c) TieS 319 943
(d) e 366 920
it oY :
(1) {a), (b), (d) (2) (@), (c} (d) (3) {(b), (c) (4) {b), (c), (d}

Which of the following districts have their correct density of population and sex
ratio as per census 2011 ?

District
(a) Thane
(b) Nashik
(c) Nanded
(d) Aurangabad
Answer Options :
(1) {a), (b), (d) (2)

Density Sex ratio

886 986

393 934

310 943

366 920

(@), (c), (d} (3) b} () (4)  (b), {c}, (d)

HoAT HIHTATS W/ SPACE FOR ROUGH WORK

P.T.O.
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20. WEHT M feoe ' Tom Sedetn’ Srat weiia srerie s o,

(a) @S (i) & S anfde e
(b) E&=A (ii) o &t I=mEer
(¢} dRET (iii) ST SR 9T HEam
(d) R gi=d (iv) wfa S siedia 9| S0
i 36y
@) (b) (c] (d) (a) (b} (c) (d)
(1) (v) () (i) (i) (2} (i) (iv) (1)  (iii)
(3) Qi) (i) (v} (i) (4) (i) (1) (@v) (i)

Match the important words in the definition of ‘optimum population’ with the
scholars who gave them.

(a) Boulding (1) maximum economic growth
(b) Dalton (11} maximise standards of living
(c) Peterson (i) maximum social welfare
(d) Car Saunders (iv)] maximise income per head
Answer Options :

fa} (b) (e} (d) (a) (b} (c) (d)
(1) (v) (i) (i) (i) (2) @i (@) (i) (i)
(3) (@) (i) Gv) (i) (4) () (1} v} (i1)

21. RS 73=7 gevkie favm .
(a) ¥R A FeqfatEm 9 S T YT ST,
(b) < 7 e TEE favoma sTeeA.
(c) = ga1 Her foeana |y,
(d) dieeT goo Aied =i WHIOr ) ST,
(1) = 9y () ST TR,
2} fauM (a), b) W (¢) IR T
(3) Taum (a), Ic), (d) TR TEA.
4) UM (a), (b}, (c) M (d) SR AT
Observe the statements regarding soils in Maharashtra.
fa} Regur soil contains Aluminium and Iron on sufficient level.
(b} Lateric scil is found in moist climate,
¢} Red soil is found in Bhandara district.
{d) Red soil contains less amount of organic matter,
Answer Options :
(1) Only statement (a) is correct.
{2) Statements (a), {b) and {c) are correct.

(3) Statements (a), (¢}, (d} are not correct.
{4) Statemen:s {(a), (b), (c) and (d) are correct.

FHoAT HWETE AP/ SPACE FOR ROUGH WORK
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22, G foumis vy 5 9rg v e

(a) wEaTE WA P & 78° T YA o ST
(b) mwﬁmmso%aﬁmﬁﬁmmﬁwmammmﬁ.

i Y
(1) (a) 30F (b} S (2) (a) TR (b) TH
(3) (a) 9% (b) FUK (4} (a) 3T (b) F

Examine the following statements and select the proper option.
(a) Majority of the coal fields found in India to the east of 78° East Longitude.

(b) The states of Orissa, Chhattisgarh and Jharkhand constitute more than
50% of the total coal production of India.

Answer Options :
(1) (a) and (b} true (2) ({(a) true (b) false

(3) (a) false (b) true (4) (a) and {b) false

23, TS HfcaHy I W TSUHG fOYIgRA FH §@ favrERe SR arar

TR,
(1) wfTee ar (2) feEE i
(3) =R AR (4) SFRaR

The winds blowing from the subtropical high pressure belt towards the equatorial
low pressure arca known as .

(1) Local winds (2) Westerlies

(3) Trade winds (4) Mountain winds

HOHT HWTEIS SOT/SPACE FOR ROUGH WORK
P.T.O.
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24,

14 A

TR HasTThEn v (g T e 7

(a) G RIAT FEAYA U TG FE T TEL

(b) VSR TTOR ST FXoa SrEAvi B A .

(c) SmyfTer et s snfder gwn v waed T,

(d) Vit =afemm oo Y90 s T wase TR

qytEt JT

(1) % faq9 (a) SR =R

(2) faum (a) sufor (b) Fher anEa.

(3) Taum (b), (o) mftr () s anea.

(4) Tfaum (a), (b), () 30fW () saw A

What happened in Maharashtra due to fragmentation of agricultural land ?
(a) Farmer is not able to produce food grains, sufficient for his family.
(b) There are obstacle to supply water to agricultural land.

(c) The use of modern agricultural tools is uneconomical.

(d) To pay individual attention on agriculture is uneconomical.
Answer Options :

(1) Only statement (a) is correct.

(2) Statements (a) and (b) are correct.

(3) Statements (b), {c) and (d) are correct.
(4) Statements (a}, (b), (c) and (d) are correct.

25.

Tl d Wie I faamme faume s, @i 9 vt free

(a) @S "I (b) Y& SR

(c) Y@E Fk AW vdT (d) ¥=E9-E® 9 18R

(e) e ard fam () T ER

it 3T

(1) %9 (a), (b), (c) W (¢} (2) %9 (a), (b), (e) S ()

(3) & (a), (b), (d) S (f) (4) = (b), {c), (d), (e) T ()

The Ocean flcors are divided into the following major divisions. Select the correct
option.

{a) The continental shelf (b} The continental slope

{c) The continental ridge and hills (dj The shallow-deep sea plateau
(e) The deep sea plain (f) The oceanic deeps

Answer Optioans :

(1) Only (a], (b), (c] and (e) (2) Only (a), (b}, () and {f)

(3} Only {(a), (b), (d) and (f} (4} Only (b}, (c), (d), (e} and ()

THoedl HIATEIGI S /SPACE FOR ROUGH WORK
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26, SE S
YATS WEEF Ui faum
(a) =TamA goft ) feEmE, 9T
(b) oot goft (i) f&e, IR
(c) Tt soft (iii) HPOR, T
(d) -3 &t (iv) wTorEE, SaeqT
i WY
(a) (b} (e) (d) (a) () le) (d)

(1) (i) Gv) Gi) (1) (2) (iv) (i) (i) ()
(3) (i) (1) (iid) (@) @) () @) (v} (i)
Match the following :

Dharwar Rock System Area
(a} Champion series (i) Singhbhum, Bonai
(b} Chilpi series (i) Delhi, Alwar
(¢} Rialo series (iii) Kolar, Raichur
(d) Iron-ore series (ivi Balaghat, Jabalpur
Answer Options :

{a) (b} (e} (4 (a) (b) (e} (d)
(1) @) Gv) (G {1 (2) (v} (i) () @)

(3) (i) (i) (i) (iv) (4) (i) () (v} (iid)

27. R Feadie agi SThgd SUHS 31 97a e ST,
(1) VISR, T, Sahod (2) WM, TR, @R
(3) FAIYE, FEER, gSAE (4) STFRGPEl, YSTH, TGER
Find right sequence of tahsils from north to south in Nandurbar district.

(1) Shahada, Dhadgaon, Akkalkuva ({2) Dhadgaon, Taloda, Nandurbar
(3) Navapur, Nandurbar, Dhadgaon (4) Akkalkuva, Dhadgaon, Nandurbar

28. W YRAHSY WH d SUNA w0 ot orldie, W mEe sies e w sfawsdia 3w W W
TAGAER 9% HH 39S ?
(1) T 6:30 9 FEF 6:30 (2) WS 6:30 T FHIB 6:30
(3) UF@ 6:30 § UEHB 5:30 (4) WE®ES 6:30 T TS 5:30
If the time in India is 12:00 Noon, what would be the time simultaneously at the
Greenwich meridian and the International date line, respectively ?
(1) Morning 6:30 and Evening 6:30 (2) Evening 6:30 and Morning 6:30
(3) Morning 6:30 and Evening 5:30 (4) Evening 6:30 and Morning 5:30

T HIHEE I/ SPACE FOR ROUGH WORK
P.T.O.
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AT JIE] AR FevaTEEl HIRA feadt wRofihg o ?

(a) yHtEer fawm wm

(b) WRaren fo=t sy srRe Tz

{c)  30° q 40° FeTT= YgAIT T FAE ST

e v

(1) W (a] (2) ™ (b) (3) (a) @fvr (b) (4)  (a), (b) AT (c)
Which situation is responsible for the monsoon winds in India ?

{a) Extensive land area

(b]  Sea lies on three sides of India

(c) Existence of Jet stream in 30° to 40° latitude belt

Answer Options :
(1) Only (a (¢) Only (b) (3)  (a) and (b) {4) (a), (b} and (c)

30.

% arrEgidte Hird faum s T ?

{a) &R ! gdams aw=dm.

(b) ¥ A TR WHRE S7RA.

(c) ¥ AN 3T9E YEdr= T HISEET 9% 92qn,

(d) & 9N BT TG T,

et 39y

1) (@), () (2) (a), (o) (3) (), (© (4) (o), (d)
Which statements are incorrect regarding Chinook winds ?

{a) These winds blow on Rocky mountain.

(b) These are the local winds.

(c} These winds climb Alps mountain from its south side.

(d) These winds blow in Rhine river valley.

Answer Options :
(1) {a). (b (2) (&), {) (3} (b), () (4) (o), ()

31.

WIAGHFT FIA FOF SR 1952 =41 %R Y6l 7% SR SRd 38 STeR F0 oS ?

(1) suimEnie fom (2) snfymardio st

(3) aTBHIEY HIeEl (4) NS SewE

Which of the following species was declared extinct in India long back 1952 ?
{1y Asian Chieetah (2) Asian Elephant

(3) Desert Fox (4) Gangatic Dolphin

FHoed] HIAEE ST/ SPACE FOR ROUGH WORK
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32, TEITUH T S0 WOIGUD! BV TTHAES TS hd 7

{a) THeviE (b) <RI TEHH

(c) A=A AU GO TG (d) ZEEiE I

At I

(1) e (a), (b) & (d) (2) W (a), (b) 0 ()

(3) FH (a) (4) o wd

Habitat destruction can happen due to which of the following activity ?
(a) Deforestation (b} Reclamation of Marsh

(¢} Change of land use pattern (d) Subsistence farming
Answer Options :

Y13

(1) Only {a), (b) and (d) (2) Only (a}, (b) and (c)
(3) Only (a} {4) All the above
33. e |
W - I wWy- 10
( 9T ek ) (0= )
(a) “THUTH (i T

(b) WEMTEER (i) ITTES
(c) fosue (iii) STEES WY

) gua (iv) e
Tt 3T

(a) (b) (e} (d) (a} (b) (e (d}
(1) (i) (v) (111 (i) (2) ) (i) (v) ()
(3) () (1) @G (iv) (4) (i) @) (v) (i)
Match the following :

Column-I Column-II

{(National Parks) (State)
(a) Naramdapha (iy Goa
(b) Bhagwan Mahavir (ii) Uttarakhand
(c) Simlipal (iii) Arunachal Pradesh
{d} Dudhwa (iv] Odisha
Answer Options :

{a) (b} (c) (d) (a) (b) (c} (d)
{1) () (v) (i) () (2) (1) (i) Gv) (i)
(3) (1) (i) (@) (iv) 4) ([ 1) @) (i)

T RIS </ SPACE FOR ROUGH WORK
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34, e o
T FHEieR S319 ygwrs ufiom,
Wy -1 Wy -1
( 3aTTST aTeeh ) (&)
(@) 100 dB (i) @ua AU
(b) 40 dB (ii) ehrEEHTE &
(c) 70dB (ili) =Ew= FEqo FHIE HT
f(d) 90dB (iv) 9T T
LD 15
{al (b) e} (d) (a) (b) {(e) (d)
(1) (i) @) i) (i) () Gi) (i) v (i)
(3) (1) i) iv) i) 4 {v) @) (i) (1)

Match the following :

Impact of Noise on Human Activities.

Column-I Column-II

(Noise level) {Human Activities)
{a) 100 dB (i) Sleep Interference
(h) 40 dB (i1} Loss of Working Efficiency
{c) 7O0dB (111} Permanent Loss of hearing
{d) BS0dB (iv) Speech Interference

Answer Options :

{a) (b} (c) (d) (a} (b) (c} (d)
(1} (i) (1) i) (1) (2) () {)  (@v) (i)
(3) 1) (i) (v} (i) (4} (iv) (i) (idd) ()

HAT HIHTETE S0/ SPACE FOR ROUGH WORK
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35, SSM e :
w1 W - 11
( wroft S ) (vE )
(a) fwe= (i) fereetn @
by w9 (i) U TR STE
(c) §F (iii) ST T
(d) TEB (iv) S T
qaiet S
(a) (b) (e} {d) {a} (b) (c) ({d}
(1) () (v @) (in) (2} @) (v) @) ()
(3) ) (v) @ () 4) @v) {@) () (D)
Match the following :
Column-1 Column-II
(Valuable Fauna) (Importance)
(a) Insects (i) Consume insects
(b) Snakes (ii} Crops-pollinators
(c) Frogs (iii} Soil fertility
(d) Earthworms (iv) Protect damage from Rodents

Answer Options :

(a) (b)) (e} (d)
(1) i) (v (@) (i)
(3) (i) (v} (i) (i)

(al (b} (c) (d)
(2) (i) (Gv) (i) (i)
(4) (v} @) (i) (i)

THoAT HTATAIS ST /SPACE FOR ROUGH WORK

P.T.O.
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36. [T el ST (99 e U5 Sheen cehann Siies Wadie saeen aest
TS S/ BRI GG ST AR/ T ?
(a) 1983-64 HY UMW YAIKS TIREY 46.6 =9 a9 2hl,
(b) 1993-04 T 36.0 THF SFHE T THE@! T,
(c) 1990-C1 A&Y 35.0 T BRI Vel W ET YywEret e,
(d) 1987-88 AL YRAW THU 37.0 Tk DT e W@ T,
TeiH 3

(1) (a} 0 () (2) (b) 3nfo {d) (3) () 3N (b) (4) () Pe

According to the Planning Commission’s Estimates (Expert Group Methodology)
about percentage of population below the poverty line population, which option/
options of the following is/are correct ?

(a) In 1983-84, Rural area poverty was 46.6 percent.
(b)  36.0 percent of the population was below the poverty line in 1993-94.

{¢) 35.0 percent of the population in Urban area was below the poverty line in
1990-91.

(d} In India, 37.0 percent of the total population was below the poverty line in
1987-88.

Answer Options :
(1) (a) and (c} (2) (b} and (d} (3] (a) and (b) (4) (¢} only

37. "'IW’ g 9 Afee’ @ Ghewrors fee qEelent v iy 8N 2
(a) Y& 241 AFUITET WIHT-=1/ T (b) g wifersst Tifedi

(c} Wieatan R AR (d) = TR0 ]

it 39

(1) (a) =0 (d) (2) fa), (b), (c) ST (d)

(3)  (a), (¢) =0l (q) (4)  (a), (b) anfor (q)

The “missing” girls and women’ phenomenon occurs due to which of the following
factors ?

(a) preference for male child {b) inadequate data

(¢] women trafficking {d) high maternal mortality ratio
Answer Options :

(1) {a) and (d) (2) (&), (b), (¢) and (d)

(3) (a), (c) and (d} (4) (a), (b) and (d}

Hee] HITHETS S/ SPACE FOR ROUGH WORK
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‘gie Aty T A’ (SAGY) ST @IEiE B Fam sia T ?
(1) FEa 2016 ALY HET AT ST,

(2) WEER 2019 Ta 2 fFa Ffuw Aiee fxow fowfm FF .
(3) A W WA 2,500 Yan it G wwfeee anga.

(4) SSH! UHE TR

Consider the following statement about “Sansad Adarsh Gram Yojana” (SAGY),
which of the statement is not correct ?

(1) Introduced in September, 2016
(2) MP’s can develop 2 or more model village by 2019
(3} Covering over 2,500 villages in India

{4} Nomne of these

39,

T 2018 = WRAEN SDG Fewi ¢ Teife -
(a) WRar 9UEh HdeE 57 6.

(b) TR T & AT TR T 3T,
(c) SO YRY TN HHEY 30 A e B

U'Qﬁ'-i:l"o’ﬂ:l' :
(1} % (a) T (2) WG (b) TR
(3) W& (a) S (b) IV (4) HF (b) M (c) T

The 2018 SDG India index indicates :

{a} Average index for India at 57.

(b} State of Maharashtra is infront runner category.

{c) Uttar Pradesh Falls in the best category.

Answer Options :

(1) only (a) is correct (2) only (b} is correct

(3) only (a) and (b) are correct  (4) only (b) and (c] are correct

AT THIHTATS HRM/SPACE FOR ROUGH WORK

P.T.O.
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40. GATT (7@ fidz A ¢ o= fEw) deum yete faur famg =
(a) TiZ (GATT) i ST 1948 Tt T,
(b) YN F12W e (GATT) ¥ 23 39 959 34
(c) WTO 72 (GATT) 9 U ¥R ITUfIFIT o1k,
(d) Tewelia o agiaia = e e & T
FAH] TR favr/ (e ST o/ o ?
(1) (a) =nfor (g (2) (a), (b) i1 (d)
(3] (@), (b) s () (4) =els wd
Consider the following statements with reference to GATT agreement (General
Agreement on Trade and Tariffs).
(a) GATT was established in 1948.
(b)  Initially, the total number of members of GATT was 23 countries.
(¢) In a way WTO is the successor of GATT.
(d) GATT administers all bilateral and multilateral Trade agreements.
Which of the above statement/s is/are correct ?
(1) (a) and (d) (2} (a), (b) and (d)
(3) {a), (b) and (¢) {4) All of the above
41. YREISIR FR /@ FuE/ w0 e/ ?

(a) U Mo AR Whed 2015 FA & FAIIG 3.

(b} iR a9 0 F¥ -14 o8 T 4fhe /AR TR I Fow o Emaatas wie
foo s

(c} NI GeF FIST A WSTHRH G M.

it 39y

(1} (&) ®ed (2) (b) & (3) (a) =001 (b) W (4) =i®wd

Which of the foliowing statement/s is/are correct ?

(a} National child labour project was launched in 2015,

(b) It provides vocational training to children rescued from work force in the age
group of 9 - 14 vyears,

(c) It gives stipend to rescued children.

Answer Options :
{1) ({(a) only (2) (b) only (3) {a) and {b} only (4) all of them

FHoEl IMHTE 0T/ SPACE FOR ROUGH WORK
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42. SiEd ol :
me -~ A -9
( TR et ) (D)
(a) Femgim (i) oo S femt
(b) T AT (i) B = et w10
(c) TearaErd Fra (iii) TR TR TR
(d) HER FES (iv) TTEEE WERY Yafaa T
Tygia Y
(a} (b) (e} (d) (a) (b} (e} (d)
(1) (v) (ii) {8) () (2) (i) @ Gv) (i)
(3) (1) (1) (i) @) (4) () () (i) ()
Match the following :
Group - A Group - B
(Economic Reforms) (Objectives)
(a) Demonetisation {ij Checking black money
(b) New Benami Law (iij Removing fake currency
{c) Bankruptcy Law {iii) Rationalising subsidies
(d} Aadhar Act {iv] Promoting ease of daing business
Answer Options :
(a) (b} (e} (d) {a} (b) (e) (d)
(1) G@v) (i) (i) () (2) @) (i) (v} (i)
3) i) () () @) 4y @) (i) (i) {iv)
43. @oe fayH faam =0

(a) Wal faerm Fréwie @1 TR, Taeror sftt TRvimA =N €Y fRvi® R,
(b) TR HISHM ¥ TER @ SIMava Scarer ArsHT ST et Siid.

e F69

(1) (o) SR 8 (2) (b} T TR M

(3} (a) ofN (b) IFEE TR ART  (4) (o) M (b) S Tk 2w
Consider the following statements :

(a) HDI is a composite index of health, education and standard of living.
(b) The standard of living is measured by GDP per capita.

Answer Options :

(1) (a) only is correct (2} (b) only is correct

(3) (a) and (b} both are correct (4} (a) and (b} both are incorrect

HoH| hIHIES A/ SPACE FOR ROUGH WORK

P.T.O.
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44, JUFES 9 97 ST A gE s 19

(a) To TmrwH (b) fa<is @

(c) fomama=ag (dy Y= fam

i} 39T

(1) () 9 (b} e (2) (b} & (c) P

(3) ({a), (b) 3 {c} e (4) (b}, (c) 9 (d) B
Pradhan Mantri Jan Dhan Yojana (PMJDY) envisages :

(a) Financial inclusion (b) Financial literacy
(¢) Insurancs cover {d} Crop insurance
Answer Options :

(1) (a} and {t) only (2) (b) and (c) only
(3) (a), (b) ard (c) only (4} (b), (c) and {d) only

45. e faur fasme =
(a) R PRI sTREimrE s R seEeTe SeERT 2015 9 et R,
(b) WM TN (SiHdR) Friem ¥ et s Anfeviss 9 o,

Hﬁﬁ:
(1) (a) B3R TR (2}  (b) B T
(3) [(a) 30N (b) EEY ST (4) () 300 (b) S g%

Consider the following statements :

(a) Planning Commission of India was replaced by NITI Aayog in January, 2015.
(b) Normative Planning is a guiding principle of NITI Aayog.

Answer Options :

(1) (a} only is correct (2) (b) only is correct

(3) both {a) and (b) are correct (4) both (a] and (b) are incorrect

46. 'R 9N IR (1SA)' WEd WoStE mg faum ade = s ?
(1) Far 121 S My U Swit o1
{2) T HE 9 FEHa A fayegw 7 siwar 9 gof gafae A
(3) A qau T S TR ey qiH ST 6 O e g,
(4) gt 30 ST 2015 T 4oy A4 TE FoT T,
Which of the following statement is not correct about International Solar Alliance
ISA) ?
:1) )The Alliance is of 121 solar-resource rich countries.
(2) All of these countries, lying fully or partially between Tropic of Cancer and
Equator.

{3) The alliance was jointly launched by PM of India and President of France.
(4) The alliance was launched on 30th November 2015 at Paris.

AT HIATETE WA/ SPACE FOR ROUGH WORK
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47. o faum fa=md =0 :

(a) U = G aRER 2007-2008 3 & FAW 1,

b) Tiges, g SN € A I ArEran! Bl T 8 3T,

T I

(1) & (a) ST 8T (2) THE {b) TR MG

(B) (@) 3 (b) T TR (4] (@) SO (b) A TF A

Consider the following statements :

(a) National Food Security Mission (NFSM) was launched in 2007-2008.

(b) It aims at increasing production of rice, wheat and pulses.

Answer Options :

(1} only (a} is correct {2) only {b) is correct

(3) both {a) and (b} are correct (4) both [a} and (b) are incorrect
48, WHAHHT ISF@ ASEE /N (PMUY) S/ e

(a) wiew 9 Hoi=a ARMAE YR

(b) WigeA Qe

(c} orfaftEm JsmRiAfH

TaiH I :

(1) (&), (b) %K (2) (b}, (o) &

3) (a) ® (4) =etER dE

The objective/s of Pradhan Mantri Ujjwala Yojana (PMUY) :

(a) Improved health of women and children

(b) Women empowerment

(c) Additional employment generation

Answer Options :

(1) ({(a) and {b) only (2) (b) and (c) only

(3) (a) only (4) All the three above
49, 'T-3IMIEH TR HiET SR’ STHA D0 T GE (Launch) HUEE 1 ?

(1} 2004 (2) 2000 (3) 2009 (4) 2005
In which year, the Indo-US Dollar Matching Grant’ project was launched ?
{1} 2004 (2) 2000 (3) 2009 (4) 2005

ol RIS I/ SPACE FOR ROUGH WORK
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50. WOGTH HIUT faum/faum s i)/ 3 ?
(a) Taforee FTemi Joe TR Seftn Hown w7 9 Y TH IS T U w
UM A& (GNP} 2.
(b)  STFAT TR 90T S 90 FeEd B, e TR ARG I S e W e
IARAT (GNP} F .
(c) Wi IO 30 2 0TS S T S TRfe.

Iidt Y
(1) {a) 37ftr (b) (2) (a) 3nfor ()
(3) (b) 3 (¢) (4) e dE faum s¥ier amed

Which of the following statement/s is/are incorrect ?

(a) GNP is the total money value of goods and services produced by the nationals
during the given year.

(b) The part of income produced in the country but earned by foreigners is
included in GNP.

{c) Per capita income shows the marginal income of the people in the country.

Answer Options :

(1) (a) and (b) (2) (a) and (c)

{3) (b} and (c) {4) All the three above are correct

51. YEie faumri=n (9= &1 :
(a) SUHER STIEET T Jeat=an Tl WHaTw [ ST
(b) T A SUUE GEETER S HUHE T ST 37 e,
it st
(1) <2 fau 9% s
(2) (a) foem s afon @ (b) = Frofam s
(3] (a) Taem sUsRK A0 4 (b) = HROEHE @
(4) () TR T (b) TF M.
Consider the following statements :
(a) The speed of telecommunication satellite relative to earth is zero.
(b) Hence it appears to be stationary to a person on the earth.
Answer Options :
(1) Both statements are false
(2) (a) is trae and is a reason of (b)

(3) (a) is true and is not a reason of (bj
(4) (a) is cerrect, (b} is not

oA HHAEE ST/ SPACE FOR ROUGH WORK



A 27 Y13

52. W TER WA e gt ge fidieR eee Al @I wfafsie €9 F
(1) 180 39Tt () SFoCN WFHEI TR,
(2) TN 95 TR
(3) 90 W (w/2) 37w faed BRe.
(4) oo de o sToRe SRR TR

When a compression of sound waves is incident on rigid wall, it is reflected as :
{1) Compression with a phase change of 7 (by 180°)

(2) Compression with no phase change

{3) Rarefaction with a phase change of w/2 (by 90°)

(4) Rarefaction with no phase change

53. WIS faumArEr faur 4 ¢
(a) T WON LS TTETE JIHE HEA - 14 HEA - 12 FJid U TG0 HEd.
(b) fertuiremrdl & - 14 WwefrereT 19 HsH! TR S
TR I
(1) Taur (a) T 3 sufon (b) faur Frufimia o,
(2} (a) 3770 (b) B T T SR
(3) (a) T W aTE Y (b) IF M.
(4) (a) #0007 (b) THASKITH Hefga e,
Consider the following statements :
(a) The ratio of 4C to 12C changes continuously for dead bodies or plants.

(b} Radiocactive isotope Carbon-14 is used in a Carbon dating technique.

Answer Options :

(1) Statement (a) is true and is a reason of (b)
(2) Both (a) and (b) are not true

(3) ({a) is true but (b) is false

(4) (a) and (b} are not related to each other

HoAl HAWE AT/ SPACE FOR ROUGH WORK PO
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54, AR Y TR dEET @iei®t FIvR UEE Trsqe AR ?
(1) THO FUE Feel

(2) TTIEISH SToe vt
(3) e, AT anfor <R = sroprie e
(4) oo feoren

Which of the following properties of atom could be explained correctly by Thompsen
Model of atom ?

(1) Overall neutrality of atom

(2] Spectra of hydrogen atom

(3) Position of electrons, protons and neutrons in atom
(4) Stability of atom

55. fefeam= st 12.5 3% s/ @ e fevont o9 9™, 25 suAm g fefeam=n fedt so
Fe oo odia ?

(1} o (= (2} 05 (3) 0.25 (4) 0.125

Tritium has a half-life of 12.5 years, undergoing beta decay. What fraction of
original Tritium will remain undecayed after 25 years ? .

(1) O (zero) (2) 0.5 (3) 0.25 4) 0.125

56. 300 9 U% Yok WA yied 1 a9 wieas W, SR TH gl X T 3.00 F9e, W A
Hfemed w eeiAet S fas=n wd fod! 2

(1) T279.00 (2) ¥ 31.00 (3) ¥ 27.00 (4) T 27.90

A washing machine rated 300 Watt is operated for one hour/day. If the cost of
one unit is T 3.00, what will be the cost of the energy to operate a washing

machine for the month of March ?

(1) T279.00 (2) T 31.00 (3) T27.00 (4) T27.90

FoAT HEES AT/ SPACE FOR ROUGH WORK
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57, Qe vty g e S

(a) HY=M 7 IR G (i)

(b) TEEHPER (ii)
(c) SYAUGE! /YNy 3@ (iii)
(d) TSREGIFETY (iv)
warat 34y

(a) (b) (e} ({(d)

(1) (v} (i) (i) (i) (2)
(3) i {v) @) @) 4

Y13
AHafia F&
Sfreren Tud S P, W
I Tt
S T2 UL
(a) (b) f{c) (d)
(v (i) (i) (i)
(i) (i1} (iv) (i)

Maich the following with correct options.

(a) Inexhaustible resources (1)
(b} Stratosphere (1)
{c} Non-renewable resources (iii)
(d) Chlorofluorocarbons (iv)
Answer Options :
(@) (b) (e} (d)

(1) (v} Gdd) (if) (i) (2}
(3) i) Gv) (i) (i) (4)

Anthropogenic activities

Fossil fuels like coal and petrol
Solar Energy

Rich layer of Ozone

(a)
(iv)

(i)

(b)
(ii)

(i)

(e) (d)
(iii) (i)
(iv) (i)

58.

" qe ST ardedter dRE ST Sie Wi Gt el FERiG aecn WHne Je SR,
e faum fr Fevie durer sgwesR @i oA i o ¢l faamrenr? e

(1)
A1) FESTTRT 3T,

(2}
(3)

(4)

Tome T S 9 e (s franie sfeise e st

T ' areirErEa | g yHnd 3.
TP Shueh A WY Wirda Wera w3,
T el sitoee 9 @At (fres) 8 R,

“Currently there is increased demand for fresh and good quality flowers for human

consumption worldwide”.

The above statement is based on the following potential values of flowers.
Which one is not appropriate with the context of above statement.

Flowers are endowed with natural antioxidants and scavenging activity of

(1)
reactive oxygen radicals.
(2) Flowers are rich source of Anthocyanins.
(3) Flowers are attractive and help in pollination mechanism.
(4} Flowers are important source of vitamins and minerals.

o] RIS ST /SPACE FOR ROUGH WORK
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59, vaiaToe’ Hafig fFrefefea dra e =

(a) WEREET (i) WRMEIR, 995, 79, 9@ 5.
(o) RIS (ii) TR, g, gesrefir €.
(c) TEGEHISK (iii} geEten T, A ME
(d) eTenterr (iv) 9eETE T (@EH) WEE
Tt S

(a) () (¢) (d) (al (b} (e} (d)
(1) (i) @) () w) (2) (v) () @) ()
(3) fii) (v) (i) (i) (4) (i) () v} @)
In relation to Environment match the following.
{a} Biosphere {if Oceans, Seas, River, Lakes etc.
(b) Lithosphere (ii) Plants, Animals, Microbes etc.
(c) Hydrosphere (iii) Thick gaseous cover surrounding the Earth
(d) Atmosphere (iv) Solid Component of Earth

Answer Options :

(a) (b) (e} (d) {a) () (e} (d)
() (i) @G @) @) (2) (v) i) (i) @)
(3) (i) (iv) (i) (i) (4) (i) i) (v) (i)
60. TS FHm WHRA S SigR A U S s i e e
.
(1) =S (2) @ (3) & (4) W

‘combining desired stem with favourable Root Characteristic.

‘1) Budding (2) Layering (3) Cutting (4) Grafting

is an Artificial method of Asexual Reproduction, used to produce plants,

FST HAMEIS 90T/ SPACE FOR ROUGH WORK
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61. WA SieH a1 (A vty )

(a) offwice (i) STueRIEAT S

by Tasiwr=E (if) SATERFIEE S

(c) Teoikeg (iil) TAETRITEATE ST

(d) W SEHA Hew {iv) Serrera =

T S

(a) (b) (c] (d) (a) (b} (c) |(d)

(1) (i) (1) () (i1Q) (2) @i) (1) @) (1)

(3) (v) i) (1) (i) 4) () (i) (iv) (idi)

Match the following {use correet codes) :

(a) Aristotle (1) Father of Medicine

(b) Theophrastus (ii) Father of Genetics

(c} Hippocrates (iii) Father of Botany

{d) Gregor Johann Mendel (iv) Father of Biology

Answer Options :

(a) (b) f{e) (d) (a) (b) (e) ({d)

(1) i} (1) () (ii1) (2) (i) (i) () (i)

(3} (v} (i} (1} (i) 4 () @) (v (i)
62. WEBUH R faum,/ faym aREisR’’ 9T e e/ ARG ?

(a) WREHMHIR T FIER! 00F @S TR
(b) A AW T N0 FoFaris FAT M 31T,

gt 39 ;
(1} (a) ®F (2) (b) ®
(3) (a) =00 (0) = 4) afctEt Foae @

Which of the following statement/s is/are true for sarcomere ?
{a} A sarcomere is any segment of the fibre.

(b) It is a unit of histological structure and physiological action.
Answer Options :

(1} Only (a) {2) Only (b)

(3) Both (a) and (b) (4) None of the above

FoeAl HIHTHE AR/ SPACE FOR ROUGH WORK
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63. TOIGIH! KA FegLerT W/ AR ¢ feudt fet!! wrell rawarges e ?

(1) =@ fasig (2) faech St

(3) I AABM (4) <RI

Which of the following Protozoan disease is transmitted by bite of tse tse fly ?

(1) Sleeping sickness {2) Delhi boli

(3) Kala azar (4} Chaga’s disease
64, IR FeuLH JUM Uil FHeS?

(1) o (2) W9 3) TR T (4) T far=

The cell was first time described by ___ .

(1) Lamarck {2} Schwann (3) Robert Hooke (4) Rudolf Virchow
65. WA@Um wme garatE Afufwe sifeefesto- g 7 yera diedd ?

fa)j 2Mg + O, — 2MgO

(b} MnO, + 4HCl —» MnCl,+2H,0+Cl,

(¢} 2Na + Cl, —» 2NaCl

(d) 2NaBr + H,0, — 2NaOH + Br,

oot 3

(1) % (a). (d) (2) KD, (3 FW@, (b)) (4 T

Which of the following are Oxidation-reduction reactions ?

(a) 2Mg + O, — 2MgO

(b) MnO, + 4HCl — MnCl,+2H,0+Cl,

() 2Na + Cl, - 2NaCl

(d} 2NaBr + H,0, — 2NaOH + Br,

Answer Options :

(1) Only (a), (d) (2) Only (b), {c) (3) Only (a), (b)) (4) All of the above
66. TAYSTS WU, Uvig sy S K ST Tt S Na* ST Hodt

I - < &

(1) =, sAfaw (2) <, FH (3) ke, wHE (4) =, Hfuw

In vertibrates, inside the cells and tissues, there is a concentration of

K+ ions anc __ concentration of Na* ions.

(1] Low, High (2) Low, Low (3) High, Low (4) High, High

AT TATES 9T/ SPACE FOR ROUGH WORK
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67. THR® T fagame 9 w9 oy, Se AR M TR IS age e 3.
(1) >0
2) =<0
3) =0
(4) TF S a5 i fameE SerEn Hey AR
The EMF of a chemical cell is positive, when the free energy change of the reaction
18
(I >0
(2) <0
{3) =0
(4) No relationship between the free energy change and EMF
68. MYf% sTadaRvie U e & ared e fere T Eeete! foe e S{eR
SHES I
(a) 9O @ISt A e, (b) % WIS AR FH B
(c) THEIPgA JEFS AAH qM@d.  (d) SETHG SRS WA FH A,
g I ;
(1) {a}, (d) (2) f(a), (¢) (3} (b), (d) (4) (b), (o)
In modern periodic table, which of the following statements about atomic radius
are true ?
{a) Increases from top to bottom (b) Decreases from top to bottom
{(c} Increases from left to right (d} Decreases from left to right
Answer Options :
(1) f(a), (d) (2) (a), (<) (3) (o) (d) (4) (b}, ()
69. WATUH! B RFAge WS ST ?
(1) T Hafe
(2) A HEATHH
(3) =, duie srfor o1 e
(4) BT

Which of the following is/are terpenoid/s ?
(1) Only menthol

{2) Only Vitamin A

(3) Both menthol as well as Vitamin A

(4) Neither menthol nor Vitamin A

HoAT HIETS AT/ SPACE FOR ROUGH WORK
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70. TIRES [Ni(CO),] =Ta4i/Sew (complex) AR fashs gergiT=t dem W
i o 2) 1 (3) 2 (4) 3
F he number of inpaired electrons in tetrahedral [Ni{(CO),] complexis
i) 0 2y 1 (3) 2 4) 3
71. HAfige GfSPFFM (Cabinet Secretariat) ¥aHld @icioUsh v faam v 2med ?
fa) @ 3H 1950 T T FHIUAQ TS,
b} & GV AGYARETe! HH H.
(¢} ¥ {0 §9A Line agency) .
() ¥ RE GHEITE e §H9d% WA $H Hid,
TR I
(1) (a) 31 (b) (2) (a}, (b) 30fW (c)
3) (o) 3 (d) (4) (), {c) A (d]
Which of the following statements are true about the Cabinet Secretariat ?
(a) It came into existence in 1950,
(b) It operates under the direction of Prime Minister.
e It is a Line agency.
(d}) It function:s as the Chief coordinating agency in the Central Government.
Answer Option:t :
(1) ({a) and (b} (2) (&), (b) and ()
13} (b) and (d) - (4) (&), (c) and (d)
72. wEe fayr faama s snfn b9 v fee.

(a) TG, S gewdl fatigeh Shde Tueen e W HueHs Wige W I,

() oTRfERT Tos Hel Sl forum Q-qgdiaia see Tearen fafimg@mR wr= et savas

(c) fasEs 9o aEaEed SO0 950 TETA Facd SeAIiEd Hqer 39 e T,

() HAwfoam, TRET TS0 $9 EE TR IO TEHAT ROTT FEEIEN Al .

qatat 39 ;

(1) (a), {b), () (2) (b, (g), (d)

(3) EH (a) A (b) (4) TH (c) W (d)

Consider the folowing statements and choose the correet code.

(a) In India, a constitutional amendment bill can be introduced in the Parliament
only with 1he prior permission of the President.

() In U.S.A., every constitutional amendment must be ratified by at least
two-thirds of the state legislature.

() In Switzerland, no alteration of the constitution can be effected without
resorting to a referendum.

(d) In Australa, the constitution can be altered only by an Act passed by an
absolute majority in both houses.

Answer Options :

(1) (a}, (b), (c] (2} (b), (¢}, (d)

(3) Only (a) ard (b) (4) Only (c) and (d}

T HEEE 0N/ SPACE FOR ROUGH WORK
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73. VFEHA GGG TAEE ] e fau faere .
(a) w=/TT 39 20fo w9 wRar=n died Freiet aifie 579 9.,
(b} Em/foe wmm g faumon e A & 3 T
(c} e/ foe GUTTRTE SR TR HASH I TSI TEgHAH TR How AR TR T
HI 4.
(d) T/ TaE wm Se-danumETien s #E.
T T RIvE ST 4 ?
(1) (@, d), (2 M, d (3 @b 4 e

Consider the following statements regarding the position of the Speaker of

Lok Sabha.
(a) His/her salary and allowances are charged on the Consolidated Fund of
India.

(b) He/she has no vote except in case of a tie.

{c) He/she can be removed by a resolution passed by a majority of the members
present and voting in the house.

(d) He/she has a higher rank than Deputy Prime Minister.

Which of the above statements are correct ?

(1) {a), (b}, () (2) ), (o), {d) (3) (a) and (b) (4) All above
74. TRAHSIH! F AN g R oo i ?

(a) oA FEA - TRE, WESiE g eETe TR W e
ey

(b) T W - O 4ed (de) Wuvargel i

(c) TFRIT YR - AT TR SieaT SRS Ui e Jied
To A THS THYAS A S,

(d) A=Y - T feowen g gl ST Bvds o Ao,

it 3oy

(1) (a), (b) (2) (&), (c) (3) (b}, (c), (d) (4} (@, (d)

Which of the following pairs are not correctly matched ?

(a) Calling attention Motion - To draw attention of the Minister on matters

of urgent public importance.
To adjourn the House before the expiry of the
time.

(c) Privilege Motion - To draw attention of the Speaker towards when
the proceedings of the House do not follow rules
of procedure.

(d} Point of Order - To draw attention of the Speaker towards
incorrect/incomplete answer by a Minister.

(b) Adjournment Motion

Answer Options :
(1} (a), (b) (2) (&), (c) (3} (b), (c), (d) () {a), (d)

HeAT HHATS! ST/ SPACE FOR ROUGH WORK PT.O
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75.
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GBS FvE foram sle E 2

(1) T TEREiiE T6E g iR fadas d9e=a ! |uiEr qise sy e
T

(2) TETAR 3@ fadas dued wigvage fafe womdel dafie wa fefdzen e
e wier Amadt atae e,

(3) WU $oie faP IgHaR FER HSR HET A T WY TR T

(4) T3 fafumizen e o faer (Wa) fEsrvam s FJaeat T,

Which one of the following statements is not carrect ?

(1) No bills for the formation of new state shall be introduced in either house of
Parliame 1t except on the recommendation of the President.

{2} The President before introducing the bill in the Parliament shall refer it to
the conc2rned State Legislature for its views within a specified time limit.

(3) Parliameat can form a new state only by a law passed by a special majority.

(4) The Parliament is not bound to accept the views (opinion) of the State
Legislature.

76.

¥ Afed SR TSEiE HIR YR T AR 2

() T SR G o e u qen aifedt Sge i U dan SIRe AR gae et
3G T,

(2) Ve e AT Sty Hifecdt ST Al eI [eHEATe TS e fnrRiEe
REARI I e A

(3) A A9S T U= 9 {Ha FAE 70 T Yol SEHET RN Haw.

(4) ¥ T T ThaE 90w T ¥ g Wifed e WOH YRR WE SEan WY
3 Tifedt g VT FTTEHIEE TR W G S 15 UE S0 & e AR
Which of the following statements regarding Central Information Commission is

correct ?

(1) It is a constitutional body includes one Chief Information Commissioner and
not more than Five Information Commissioners (ICs).

(2) The CIC and ICs are appointed by the President on the recommendation of
committee headed by the Home Minister.
(3) They hold office for a term of 5 years or until they attain the age of 70 years.

(4) They are not eligible for reappointment, but Information Commissioner is
eligible fir appointment as Chief Information Commissioner but cannot hold
office for more than a total of five years including his term as Information
Commis sioner.

FHoT HFATETS ST /SPACE FOR ROUGH WORK
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77. 77 iR =nfaw afeader’ e fre.
{a) il fafimizes sMuel SEETHl YR WU SRS BT
(b) W(Hung)ﬁmmmm%wm@aaaaﬁmmﬂ
(c) SFoRT R A=A YOVA SUFRIT Haor Hvdid $T9aE oW,
(d) el §UTee T8 Suedl e RNt Fedial SR Hdn.
i S
(1) f@), ®, @ (@ @, d @ e (4) W (b) ST (o)
The situations that leads to ‘Judicial Activism’ are :
(a) When the legislatures fails to discharge its responsibilities.
(b} In case of hung legislature where the government is very weak and instable.
{c) When the government fail to protect the basic rights of the citizens.
(d} When the party in power misuses the courts of law for ulterior motives.

Answer Options :
(1) (&), (B, () (2) (b, (c), (d) (3) All above (4) Only (b) and (c)

78. WG Wgdl faarma =,
(a) IWIUFR 3 s MRS TR
(b) sfeERrEr fasmon € 92 U9 o = Tl F9t oTrR.
(c) TS W Tar= fadamiat fofasw (W) Ferrifierm armam.
(d) = YR ¥ TArA WA Qo 7, W anf e 99e W v,
SIS IR TG/ TG THET T AR T & 31 Wesaes: WU 76 a19at ?
(1) R (a) () (@), () 3 ()
(3) (b}, (¢} o7 (q) (4) =l wd
Consider the following provisions.
(a} The residuary powers have been left with the centre.
(b) The powers divided between states and the central government.

(c) President enjoys absaolute veto over state bilis.

(d} The Union can change the name, area and boundary of a state without its
consent.

Which of the above, if absent, would make the Indian Constitution more Federal
in nature ?

(1) (a) only (2) {a), (¢) and (d)
(3) (b), (c) and (d} (4) All above

oAl FHIWTEE! ST/ SPACE FOR ROUGH WORK
P.T-O.
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79. WISTE! I AW § A - TReRe SRSE aeed R ?

(1)
(2)

(3)

(4)

T -TRAIE & W 18 IS HHAIS o1 e =Hhyil H0l S0 =heR Jow a0,

FHIA TG FO.

Tt Tl fhar el SA9e 99-T § T foha 31faes T4 9= ST 9oees feagsy
AR v favmerad s w01 anfin =raf .

319N ST & fawerer ferersh anfn, fasiee: o fawameamemas avwer anfor srarE o st
AT TRl TH= Tvareh e farereit o,

Which one of the following matters stands excluded from the jurisdiction of
Inter-state council in India ?

(1)
(2)
(3

(4}

Enquiring; into and advice upon disputes which may have arisen between
the state:s.

Adjudicaton of any dispute with respect to the use, distribution or control of
water of any inter-state river.

Investigat on and discussion of subjects in which some or all of the states or
the Unior. and one or more states, have common interest.

Making recommendation on any such subject and in particular,
recommeridations for the better coordination of pelicy and action with respect
to that subject.

80, ‘fedrmer Titel’ Heula @reieis! woR M s @ ?

(1)
(2)
(3
(4

S frm-222 anftn TEeEr fem- 187 § favefusmeasht smed.
FEIE 15 T sae Ewifuer afd & wyddr AT Fw.
THEYd ST v Tauaiuer aftei T oT6a S0 Aiddid 15 9E ST
FIFHT TAg] E

Which one of the following statements about ‘Privilege Committee’ is not
correct ?

(1)
(2)

(3)

(4)

Rule No. 222 of the Lok Sabha and 187 of the Rajya Sabha governs privilege.

In the Lol: Sabha, the Speaker nominates a Committee of Privileges consisting
of 15 meinbers. '

In the Rajya Sabha, the Deputy Chairperson heads the Committee of Privileges,
that consists of 15 members.

None of tie abaove.

HoAT NS WP/ SPACE FOR ROUGH WORK
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81. 'UNY gae YR’ e WEte faa fHER o,
(a) UTE gFF o= geyeH fashr 1986 TS AT &9,
(b} 2003 I GROITER JIFE SAET 15-35 U ST 390 Ht o).
(c) 2014 w¥io YROTTER Toa T <A 15-20 T8 355 e o2,
Tt T faym/Y JieT sm/a?
(1) %N (a) (2) @b (3) AT (4 W
Consider the following statements about ‘National Youth Policy’.
(a) The First National Youth Policy was adopted in 1986.
(b) In the 2003 policy, ‘Youth’ was defined as a person of age between 15-35.
(c) In the 2014 policy, the youth age-group is defined as 15-29 years.

Which of the statements given above is/are correct ?
(1) Only (a) (2} () and (b) (3) (b) and (c) (4)  Only ()

82. TG HIVR faum/y W a2
(a) O A=e-111 & a1 fadrgerien (money bills) == T34 3R,
(b} IDT-117(3) TH Fvitag Foe foaa fa99F (financial bill) ¥ ¥ DFEIRAT AES

S IR

(c) IWT-117(1) WA Avitag w2 foa fade® (financial bill) TEA FEAT ST goea
HE WA L

et 9y ;

(1) W (a) (2)  (b) 30fWr ()

(3) ! et e (4) T (o)

Which of the following statements is/are correct ?
(a) Article-111 of the constitution deals with the definition of money bills.

(b) A bill categorised as financial bill under Article-117{3) can be introduced
only in the Lok Sabha.

(¢} A bill categorised as financial bill under Article-117(1) ecannot be rejected or
amended by the Rajya Sabha.

Answer Options :
(1)  Only (a) (2} (b) and (c)
(3] None of the above (4) Only (¢

THeedl HTATHTS ST/ SPACE FOR ROUGH WORK P1.0
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83. W faumTis! Aom faum atar e ?

(1)
(2)

(3)

(4)

ST 200 3d gy fadras g faumrd e 3 yhan.
T fader TR TSt geaEe T Tefavar TEdes R < W,

T Faie:; AT EE Yl SEeArEe agel 3 i HeR Fe T TWihS Wt
Foard AW Hel S0 WLUFER SRR TE,
mmxmmﬁwmﬁmmmmmwmm

Which one of the following statements is not correct ?

(1]

(2

(31

(4}

Under Article 200, the Governor may reserve the bill for the consideration of
the President.

President may direct the Governor to return the bill for the reconsideration
of the Stute Legislature.

If the bill ;s passed again by the State Legislature with or without amendments
and presented again to the President for his assent, the President is bound
to give his assent to the bill

The constitution has not prescribed any time limit within which the President
has to take decision with regard to a bill reserved by Governor for his
consideretion.

g4, oI IS AT TEVH U FAEE WAt For Ry S i ?

(1)
(2)
(3)
{4}

it =R AT TR S e o =faE el SEe wiiE.
1 SR AT TE o afsel wow el Tie.
T T o S ST FEReR S W,
FOGIH! THE 7T

Which of the rollowing has been wrongly listed as criteria for appointment as a
judge of the High Court ?

(1)

(2)
(3)
{4)

He must have been held a judicial office in the territory of India for ten
VEears.

He must have been an advocate of a High Court for ten years.

He must, in the opinion of the President, be a distinguished jurist.

None of the above,

T FIEIS 96T 'SPACE FOR ROUGH WORK
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85. ‘WWWMWWWWWWQWWW
RS ¥ o, FY, S, U1 3N AT ART IO HROTES T TR TR @ @
TR WREIA W= WO S0 e e ?

{1) 30 (2} 16 (3) 28 4y 29
‘No citizen shall be denied admission into any educational institution maintained
by the state or receiving aid out of state funds on grounds only of religion, race,

caste, language or any of them.’ This provision is contained in which of the
following articles of the Indian Constitution ?

(1) 30 (2) 16 (3) 28 (4} 29

86. WAr=Al AN Sifed Rl s ey sy .
(a) WWWWWWW%WWWW@%
(b) wmmaagawmwaawm
(c) A AR v G 2014 W ¥ B
(d) mﬁﬁ?ﬁmzozzmﬁmmwﬁwwqﬁm% IS TR A FOTT 7S

.
it I
(1) {a), ), (c), (d) (2} (b), (c), (d)
(3) {e), (d) (4)  (b), (c)

Find the Incorrect statements about Gaganyaan Mission of India.

(a) Four pilots from Indian Air Force were short listed to be astronauts of
Gaganyaan,

(b) They will be trained at Yuri Gagarin Cosmonaut Centre in Russia.
(c) This mission was announced by Prime Minister in 2014.
(d} It is scheduled for 2022 with team of 5 crew members and a month long stay

in space.
Answer Options :
(1) (&), (), (0), (d) (2} (b), (0, (d)
3 (o), (d) (4} (b), ()

87. WRite Watw Har STy wonfe gon 31T,

(1) =Ry (2) #z= fpy (3) oS wTHE (4) wHz wEiE
The largest invertebrate, a spineless creature, in the world is .
(1) Octopus (2) Cattle Fish (3) Colossal squid (4) Giant squid

FHTAT FAHE S /SPACE FOR ROUGH WORK r
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88. W W AT SR HWigEN (edH gHT #ih T ¥, 2019’ Tl WSISUHI SivmE! EE
Fol?

(1) 3 ugent (2) THS YRS
(3) S (4) e faaee

Who amongst the following was chosen as the ‘Time Person of the Year, 2019’ by
the Internationally acclaimed magazine-Time ?

(1) Greta Thunberg (2) Malala Yousafzai

(3) Rishi foshi (4} Kate Winslet

89, WO FY ©HId =
() fgam:aonmﬁmwwﬁﬁmmmmﬁwwmmm

EL

(b} WIWWWW@WWW. v &= IR SEt
Ffaua = F Rar I v I,

eta Fd /R faum/A S S 2

(1) R (o) (2) & (b)

(3)  f(a) 30T (b) S (4)  (a) 3TN (b) AE T

Consider the following statements :

(a) The first phase of the Chabahar Port was inaugurated in December 2017 by
Iranian President Hassan Rouhani.

(b) Indie has taken over operations of the strategic Chabahar Port. This is the
first time India will be operating a port outside its territory.

Which is/are the above incorrect statement/s ?
(1} Only (a) (2) Only (b)

(3) Both {a) and (b} (4) Neither (a) nor (b)

ST FTATETE AT/ SPACE FOR ROUGH WORK
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(a) IV TRIGIST WRA TREH= SeaTsier Aoy aae
(b) T AL Fivew TR AT H0,

(c) WWWWWWW
(d) I FHEEIES] 3N QeadagT vl gerieo o,

waidt 39y
(1) T (a), (b), (c) (2) ®H (b), {c}, (d)
(3) W (a), (b), (d) (4) % (a), (¢}, (d)

Objectives of National Skill Development Agency of India are -

(a) Support to government of India’s five year plan for skills training,

(b) Organize skills development across all factors.

(¢} Ewvaluate the effectiveness of existing skill development programs.

(d) Empowerment of women through economic independence for betterment of

society,
Answer Options :
(1) Only (a), (b), (c) (2)  Only (b), (c), {d)
(3) Only (a), (b), (d) (4)  Only {a), (c), (d}

91.

TG H/ Sl ~ (15 o A )
(a) TA.F. fn ¥ ST st e,
(b) SRR W & STET wew e,
(c) L o1y fam & o ufag amia,

ﬂ'ﬂfﬁﬁ:{‘:
(1) = (a) (2) T (a) i (b)
(3) I (b) anfor (o) (4) F=H (o)

Select the correct statement/s (Regarding 15" Finance Commission) :
(a} N.K. Singh is the Chairman of Commission.

(b) Arvind Mehta is the Member of Commission,

(c) Dr. Anoop Singh is the Secretary of Commission.

Answer Options :

{1) Only {(a) (2} Only (a) and {b)

(3} Only (b} and () (4) Only (c)

T2 FTHHE AT/ SPACE FOR ROUGH WORK
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02. R gy sETEdl fenred wwa e e
(a) @ EERd 1946 WA TR FE.
(b) T TR IR 1. Ao T Het g,
(c) N SFTOT 1970 wat forew Fdl qam T e,
(d) R Fafifeh g Faremrarardl fevea Sfeter VAT S,

aiey I
(1 (&), (b, (. [ (2} (), (e}, {d)
(3) (0, (¢ (4) (b, (d)

Find the correct statements about Aarey Milk Colony.

{(a) It came up in 1946.

(b) Pt. Jawaharlal Nehru inaugurated the Aarey Colony.

fc) After 1970 hlm city was carved out of Aarey Forest.

{(d) It came up on the land given to the department of dairy development.
Answer Options :

(1) (a), (b), (c], (d) (2) (b}, {c}, (d)

(3} (b}, (d) (4) (b, (d)

g93. Wﬁﬁamﬁ@mwm :

(al mmmmqmmﬁmwwmmmm.
b’ ST A TR T THE WO A SR,
(c| sifafa ve ST e TF @ WAIG ST,

(d) mfwﬁﬁmwmmmﬁﬁmﬁﬁﬁmwww

I E.
mﬁiﬁ?ﬁﬂ':
(1) (a), (b}, (e}, (d) (2) (a), (b}, ()
(3) (a), (c] (4) (a), {b), {d)

Sclect the correct statements about Whip in India :

(a) Whip is responsible for the party’s discipline and behaviour in the house of

legislature.
() India inkerited this concept from the British Parliamentary System.
(¢) There can be chief whip, assisted by additional whips.

{d) In presicential elections whips cannot direct a Member of Parliament (MP)

or Member of Legislative Assembly (MLA) to vote in a particular fashion.
Answer Options
(1) (a), (b), (3), (d) (2) (a}, (b), ()
(3) f(a), (¢} (4) (@), {b), (d]
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(a) FOT AT (b) g

(c) Syt g (d} g 2=

Tt 3

(1) {a), (b), (c) (2) (b}, {c}, (d) (3) f(a}, (b}, (d) (4) (a), (c}, (d)

Which Indian bowlers to pick up an International hat-trick in 2019 ?

(a) Kuldeep Yadav (b) Mohammed Shami

(c) Jasprit Bumrah (d) Ravindra Jadeja

Answer Options :

(1) (&), (b), (c) (2} (b), (), (d) (3) (a), (b}, (d) (4) (@), (o), (@)
95. TR ST v wig faur s,

(a) € UF Somfcs gmwE o sl

(b) A ST yden sreiicd wig SR,

(c) 1 el THrERat 40% YT e R,

(d) & ST e, SR It S wad i,

a3

(1) (a), (), (o), (d) (2} (a), (b), (c)

(3) (a), {d) (4} (a), (b), (d)

Find the correct statements about Amazon forests.

fa) It is tropical rain forest.

(b) It has Atlantic Ocean at its east side.

(¢) It occupies 40% of Ecuador’s total area.

{d} Tt is home of Macaws, Toucans and Black Skimmers.

Answer Options :

(1) (a), (b), (0), (d) (2)  (a), (b), (c)

(3) (&), (d) (4)  (a), (b), (d)
96. WRETIH! T HizwigasT 2019 &Y I e ol S e

(1) TR wRvarad) R wsy wvamn sfvax

. (2) R afyeR

(3) TN HISTRET IRIER
(4) TP SfER

Which of the following decisions were taken with reference to Iranian Women in
2019 ?

(1) Right to watch football in stadium

{2) Right to vote

(3} Right to own family property

(4) Right to Divorce
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97. mﬁmsmzmgmmaﬁmﬁm#\ﬁmﬂmﬁW‘w’mmw

=

AT TS EeE! a1 fr el Foll O R 2

(1) sigw = (2) RS W

(3) QU G T (4) Tl ol

Shrinivas Fokale won the Best Child Artist Award for his film Naal’ at the 2019
National Fim Awards. Who amongst the following has directed this movie ?

(1) Ankush Chaudhari (2) Nagraj Manjule

(3) Sudhakar Reddy Yakkanti (4) Gargi Kulkarni

98, TEITH R fau W :
(a) 23 et Hifeet STHEH TSR 2019 LUFH 3,
(b) %Wﬂaﬁa%@ﬂmﬁ%wwmﬁﬁﬂmﬁ%mmﬂﬁ.
(c) mémWWWWWWWzoanW.
id) @Gﬁr@sﬁ.mﬁwmwzmgﬂs&wﬁm.
Tt I
(1) (&), (&), (©), (d) (2) (a), (0]
(3} {b), (©) 4) (a), (b}, (€)
Find the incorrect statements ifrom below :
{a) Sahitya Academy Awards 2019 were given in 23 languages.
(b) Thest: awards can be given to biography but not to autobiography.
(¢} Marathi writer Anuradha Patil received award for her short stories in 2019.
(d) Mr. Shashi Tharoor’s book won prize in English category in 2019.
Answer Options :
(1) (@), M), (), @) (2) (a), (b)
(3) (b), () (4) (a), (b), (c)

99, Wﬁwwﬁﬁmﬁﬁmﬁaﬁsﬁm:
(a) @ FrEuiE ge e T AT,
(b) aaaaﬁmﬁwmmmvﬁmaf%m‘
(c) WRAR! 500 Tonian / feig= WA ST
(d) mﬁmﬁmmg@mﬁwﬁ%ﬁﬁ
it IR
(1) (a), (b), (c), {d) (2) (a), (b), ()
(3} (b}, 1) (4) (), (e) (d) _ ,
Find cut correct statements regarding Air Quality Index (AQI) India.
(a) It reports quality of air on & daily basis.
(b) Higter the AQI value, greater the level of air pollution.

{c) India follows 500 points scale.
(d) Monitors record concentration of the major pollutants to calculate AQL

Answer (Options :
(1) (a), (b}, (¢}, {d] (2) (a), (b), ()
(3) (b}, () (4) (b}, {d), d)
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100. WERT 3 FAfeT Fidie Hafqar fawh smrg fam g

(a) ﬁmm%mmmﬁmwmaﬂ%

(b) SE ¥ @A {ETEE e S,

(c) T IS 7 FAleF Wi foreRr SR,

(d) ﬁﬁmwmﬂmm@mwﬁmﬁaﬁﬁwwmaﬁ
LDIC R

(1) (a), (b), (0}, (d) (2)  (0), (o)

(3) (b), (d) (4)  (a), (b), (d)

Find the incorrect statements about boundary dispute between Maharashtra
and Karnataka.

(a) Belgaum is claimed by Maharashtra on linguistic basis.
(b) Belgaum was part of Hyderabad princely state before independence.
(¢) Currently Belgaum is district of Karnataka.

(d) Boundary dispute case gver Belgaum is pending before Bombay High Court
from many years,

Answer Options :

(1) (a), (b), (¢), (d) (2) (), {0
(3} (b), (d) (4)  (a), (b), (d)
c0Q0o0-
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12) mwﬁ#@ﬁ%aﬁmﬁﬁmmﬂaﬁm(wa&)m‘ TR Faihat a1 Fa
mmﬁwﬁm%ﬁmmﬁaﬁaﬁwmammﬂmwﬁ
St e ¢ i AT AT Ffae HOAEETE sffrm-g2"" A AGRITEN FHAE HOAT
%Raﬁmﬁwwmwm;ﬁmw@ﬁﬂmmmmmaﬁa

(9) HﬂWWWW&B@W@@W@WE&W@WW
S TEET S AT TR A SAEETI I Feder Wr-1 THAHRHS T
foraean WA ST AT A

T W
ﬂ.%.ZOl.mﬂﬁWmmW:mﬁ?
(1) T T s (2) IvECEz TR
(3) TN TEHEA T (4) TR T

@W'Wﬁ{“@)wmﬁﬁﬁq“aﬁaﬁ e W wEE I @) Riw, IS
WHSIE T . 2o1mm—$ﬁ$"®"%aﬁammmmﬁﬁw
e

swm2. (D O @ @
mmﬁu@mﬁaﬁauﬁmmwm—mmwmﬁmg@ww&ﬁ%
o w1 VR T ade Ui SRR HE TEd. ZTERTAT A SRTEAT IR
W?mﬁ,ﬁﬁmw@ﬂﬂmﬁ.
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